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QUESTION 1

What characteristic of an element determines its specific isotope? 

A. Number of protons 

B. Number of neutrons 

C. Number of electrons 

D. Number of quarks 

Correct Answer: B 

 

QUESTION 2

On an annual basis, a hospital deliver 1,820 babies. If 55% of the babies born are boys, how many girls were born in a
year? 

A. 1001 

B. 819 

C. 637 

D. 1183 

Correct Answer: B 

 

QUESTION 3

The pH scale ranges from 0 to 14, where 0 is more _____ and 14 is more ______. 

A. basic, acidic 

B. neutral, acidic 

C. acidic, neutral 

D. acidic, basic 

Correct Answer: D 

 

QUESTION 4

Which of these shows the correct order of the flow of waste through the large intestine? 

A. cecum, ascending colon, transverse colon, descending colon, sigmoid colon 
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B. sigmoid colon, ascending colon, descending colon, transverse colon, cecum 

C. ascending colon, descending colon, sigmoid colon, transverse colon, cecum 

D. cecum, ascending colon, descending colon, transverse colon, sigmoid colon 

Correct Answer: A 

 

QUESTION 5

Which word in the following sentence is grammatically incorrect? 

The admissions consultant outlined what makes a thorough application package, unrespective of financial hardship. 

A. consultant 

B. thorough 

C. package 

D. unrespective 

Correct Answer: D 
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